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QUESTION 1

Which of the following is true regarding the execution of dbcc checkstorage?
A. Named cache must be configured

B. Large buffer pool must be configured

C. Workspace segments must be configured

D. Number of worker processes must be configured greater than 2

Correct Answer: B

QUESTION 2

Which of the following tables do NOT store metadata in the metadata cache? (Choose 2)
A. syscolumns

B. sysdatabases

C. sysindexes

D. syslogs

E. syspartitionsX

Correct Answer: AD

QUESTION 3

Which of the following may lead to increased deadlocks? (Choose 2)
A. Converting tables todatarows locking

B. Accessing tables in a different order in different programs

C. Decreasing the memory allocated to the procedure cache

D. Using isolation level 3

E. Configuring large 1/0 buffer pools

Correct Answer: BD

QUESTION 4

Which of the following must be TRUE to allow for up to the minute recovery? (Choose 3)
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A. Data and log must be on separate devices.
B. The log device must beavailablE.

C. The data device must beavailablE.

D. The log device must bemirroreD.

E. The master database must beavailablE.

Correct Answer: ABE

QUESTION 5

Which of the following statements are true regarding proxy authorization? (Choose 2)
A. set proxy is only permitted at one level

B. set proxy can be executed within a transaction

C. proxy authorization is granted by the System Administrator

D. set proxy can be executed in a database with a guest user

E. set proxy within a procedure retains the identity of the proxy when you exit

Correct Answer: AD

QUESTION 6

Which command can be used with "static options" to list all the static server configurationoptions?
A. sp_configure

B. sp_helpconfig

C. sp_monitorconfig

D. sp_poolconfig

E. sp_dboption

Correct Answer: B

QUESTION 7
What is the maximum value of vdevno that may be assigned to a device?
A. 255

B. 2147483647
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C. value of the configuration setting number of devices
D. value of the configuration setting number of devices minus 1

Correct Answer: B

QUESTION 8

Which of the following are true regarding creating, modifying or dropping buffer pools?

A. The sum of all the buffers in the pool must be less than or equal to the total memory size of cache
B. New pools are created using memory from the largest pool unless otherwise specified

C. The minimum pool size is determined by a configuration parameter

D. The maximum 1/O size for any cache is 8 pages

E. As long as 1 pool remains in the cache, any pool can be removed

Correct Answer: AD

QUESTION 9

Which of the following is true regarding semantic partitioning? (Choose 3)
A. Configuration parameter is on by default

B. Requiressa_role to enable

C. Partitioned tables can be created

D. Rows are assigned to different partitions based on a logical test

E. Partitions can be dropped

F. Computedcolumns are allowed in the key of range partitions

Correct Answer: BCD

QUESTION 10

Which of the following commands allow you to specify the partition? (Choose 3)
A. bcpin

B. insert

C. reorg rebuild tablename

D. truncate table
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E. update statistics

Correct Answer: ADE

QUESTION 11

In ASE 15, what is the relationship between the virtual device number chosen for a device and the number of devices
configuration parameter?

A. None

B. One of the chosen device numbers must equal the parametervaluE.

C. All virtual device numbers must be a factor of the parametervaluE.

D. The maximum virtual device number allowed is the value of the parameter minus 1.

Correct Answer: A

QUESTION 12

What conditions must be met before altering the partition strategy of a table from roundrobin to a range partitioned
table?

A. Additional partitions must be added to the round-robin table
B. Table must beunpartitioned before changing partition strategy
C. Table data must be truncated

D. Table indexes must be dropped

Correct Answer: D

QUESTION 13

A table, column and index name can be bytes long?
A. 32

B. 64

C. 128

D. 255

Correct Answer: D

QUESTION 14
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Based on the command "dump database pubs2 to pubs2.dmp with compression = 6", whichcommands could be used to
load it? (Choose 2)

A. load database pubs2 from"pubs2.dmp" withcompression = 6

B. load database pubs2 from"compress::6::pubs2.dmp" C. load database pubs2 from"pubs2.dmp" withcompression
level 6

C. load database pubs2 from "pubs2.dmp" E. load database pubs2 from "pubs2.dmp" withcompression

Correct Answer: A

QUESTION 15

What is the maximum database size allowed?
A. 2GB

B. 32GB

C.4TB

D. 8TB

E. 16TB

F.32TB

Correct Answer: C
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